Responses against the queries raised by vendors over Web application

Throughput must be greater than 2Gbps,
internal storage 2Tb minimum.

Query:

In our case, we have FWB-1000E which has
throughput 1.3Gbps and 2TB storage. Whereas
FWB-2000F has throughput 5Gbps but
960Gbps storage. So technically none of our
FWB matches above requirement.

Firewall RFP.

Sr# Queries Response

1 Annex C (II) For encouraging the healthy competition,
Sr#.1 the relevant clause of Bid Document i.e.
Throughput must be greater than 2Gbps, Sr#.1 of Annex C (II) is updated as below:
internal storage 2Tb minimum- Throughput must be greater than 1Gbps,

internal storage minimum 2TB.

Query:
The nearest model either comes with 1.3Gbps
with 2TB storage or with 2Gbps having 850GB
storage. Please advise the minimum acceptable
specifications to propose suitable model
accordingly.

2 Annex C (II) and (III) For encouraging the healthy competition,
Sr#.2 the relevant clause of Bid Document i.e.
What type of load balancing is required i.e. L4 | Sr#.2 of Annex C (II&III) is updated as
or L7 along with WAF? below:

Layer 7 load balancing is must however

Query: Layer 4 load balancing will be considered
Usually, WAF needs to load balance optional.
http/https/ftp (L7) application. Kindly confirm

3 Annex C (I) Same query as point # 1.
Sr#.1 Specification will be .

Throughput must be greater than 1Gbps,
internal storage minimum 2TB.




